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QUESTION 1

Which of the following about Fast Reroute node protection tunnels is FALSE?

A. Node protection tunnels detour around a failed next downstream router.

B. Node protection tunnels can only be requested for a primary LSP path.

C. Node protection tunnels are only used by one-to-one Fast Reroute.

D. Link protection tunnels are established if a router is unable to establish node protection tunnels.

Correct Answer: C

QUESTION 2

What MPLS function should be performed by a router that receives a data packet with an MPLS label value of 0?

A. Push an additional label onto the label stack.

B. Pop the label.

C. Swap the label.

D. Pop the label and push an additional label onto the label stack.

Correct Answer: B

QUESTION 3

Which of the following statements regarding DiffServ-TE LSPs is true?

A. The Maximum Allocation Model (MAM) provides the most efficient bandwidth utilization model
B. In the Maximum Allocation Model (MAM), each CT receives dedicated bandwidth constraints.
C. In the Russian Doll Model (RDM), a CT2 LSP automatically preempts a CT1 LSP.

D. Using the Russian Doll Mode! (RDM), a CT1 LSP may use unreserved CTO bandwidth.

Correct Answer: B

QUESTION 4

Click on the exhibit.
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lsp "LSP-toR6"

to 10.10.10.¢6

cspt

primary "Primary Path"

exit

secondary "Secondary Path-1"

exit

secondary “Secondary Path-2"

exit

secondary “Secondary Path-3*
standby
path-preference 10

exit

secondary “Sscondary Path-4”
standby
path-preference 20

exit

no shutdown

If the primary path goes down, which secondary LSP path will the head-end router select first?
A. Secondary_Path-1 B. Secondary_ Path-2

C. Secondary_Path-3

D. Secondary_Path-4

Correct Answer: C

QUESTION 5

Fill in the blanks: The device at the beginning of an LSP is referred to as the , and the device at the end of an
LSP is referred to as the

A.PE, P

B. LER, LSR
C.LSR, LER
D.iLER, eLER
E. eLER, iLER
F. P, PE

Correct Answer: D
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